

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Return of Private Foundation

or Section 4947(a)(1) Nonexempt Charitable Trust

OMB No. 1545-0052 2009

SCANNED MAY 1 2 2010

		t of the Treasury venue Service							rements	2009
Fo	or cale	endar year 20	09, or tax year b	eginning		, 2	2009, and	ending		, 20
G	Chec	k all that app	ly: 🔲 Initial r	eturn	☐ Initial	return of a forme	er public c	harity	☐ Final retur	n
_				led return		ldress change	☐ Na	me change		
U	lse the	e ino j	foundation					A Employe	r identification num	per
,	labe		ndervan Foundatio						38-241188	
•	Otherv prin	nt i	and street (or P.O. bo		il is not delivered	to street address)	Room/surte	B Telephone	e number (see page 1	0 of the instructions)
_	or ty	pe. 7140 Ca	mino Del Rey DR						616-874-87	06
	ee Spi	200	own, state, and ZIP co	de				C If exemp	tion application is pen	ding, check here 🕨 🗌
		ROCKIO	rd, MI 49341	 	· · · · · · · · · · · · · · · · · · ·			D 1. Foreig	in organizations, che	ok here ▶ 🔲
H			anization: 🗌 S						n organizations meet here and attach com	
빝			nonexempt chari						foundation status wa	
ı			of all assets at			d: 🗹 Cash 🗌	Accrual		507(b)(1)(A), check he	
			Part II, col. (c),		her (specify)				indation is in a 60-mo	
		6) ▶ \$				e on cash basis.)		under se	ction 507(b)(1)(B), ch	eck here . ▶ ☐
Li	Part I	amounts in	of Revenue and columns (b), (c), and (s in column (a) (see pa	(d) may not ne	cessarily equal	(a) Revenue and expenses per books	(0) 146	investment icome	(c) Adjusted net income	(d) Disbursements for chantable purposes (cash basis only)
	1	Contributions	s, gifts, grants, etc.,	received (atta	och schadula)	1,010,3	53			
	2		if the foundation is n			1,010,3			 	
	3		savings and temp				76	276	27	'6
	4		and interest from s	-	in ivestifierits	64.0		59,280	 	
	5a	Gross rents		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		54,5		03,200	00,20	
	Ь	-	ncome or (loss)		• • • •			 ,		
Ð	_		(loss) from sale of	f assets not	on line 10	(23,60)6)			
쿹	Ь	_	rice for all assets on			(25)5				1
Revenue	7	•	net income (from		e 2)		+	0	·	1
æ	8		erm capital gain .					· · · · · · · ·	18,13	7
	9	Income mod					+		10,10	
	10a		ess returns and allow	wances			1			
	Ь						1		,	1
	C		or (loss) (attach s	schedule)						
	11		ne (attach schedu			5,3	46	5,346	5,34	6
	12	Total. Add l	ines 1 through 11	·		1,056,4	19	64,902	83,03	9
····	13	Compensat	ion of officers, dir	ectors, trus	tees, etc.	23,0	00	15,000	15,00	0 8,000
xpenses	14	Other emplo	yee salaries and	wages	RECE	IVED				
ē	15	Pension pla	ns, employee ben	efits	11202					
훘	16a	Legal fees (a	attach schedule)			S				
e E	ь	Accounting	fees (attach sche	dule) 8.	. MAY 1	0 2010				
₹	С		ssional fees (attac	h schedule		82				
Operating and Administrative	17				OGDE	AL LIT				
ist	18		schedule) (see pag		nstructions) —	17, 01	43	1,933	1,93	3 10
늗	19	Depreciation	n (attach schedule	e) and deple	etion					
Þ	20									
þ	21	Travel, confe	erences, and mee	tings		10,13	38	5,069	5,06	5,069
ä	22	-					32	82	8	2
g	23		ses (attach sched							
ゴ	24	Total opera	ating and admi							
er						35,10	53	22,084	22,08	4 13,079
g	25		s, gifts, grants pa			114,70	00			114,700
_	26		es and disburseme	nts. Add line	s 24 and 25	149,86	33	22,084	22,08	4 127,779
	27		26 from line 12:				1			
	а		venue over expens			906,55	6			1
	ь		ent income (if ne			l		42,818		
	С	Adjusted ne	t income (if nega	tive, enter-	-0-) [1	1	60,95	5



607	a 11	Balance Sheets Attached schedules and amounts in the description column	Beginning of year		End o	ot year
	art II	should be for end-of-year amounts only. (See instructions.)	(a) Book Value	(b) Book Val	ue	(c) Fair Market Value
	1	Cash - non-interest-bearing				
	2	Savings and temporary cash investments	133,458	63	39,716	639,716
	3	Accounts receivable ►				
		Less: allowance for doubtful accounts ▶				
	4	Pledges receivable ►	1			
		Less: allowance for doubtful accounts ▶		 		
1	5	Grants receivable				
	6	Receivables due from officers, directors, trustees, and other				
	1	disqualified persons (attach schedule) (see page 16 of the				
		instructions)				
	7	Other notes and loans receivable (attach schedule) ▶				
ø		Less: allowance for doubtful accounts ▶				
Assets	8	Inventories for sale or use				
As	9	Prepaid expenses and deferred charges				
-	10a	Investments—U.S. and state government obligations (attach schedule)	77,072		3,635	
	b	Investments—corporate stock (attach schedule)	1,786,260	2,09	5,956	
	C	Investments—corporate bonds (attach schedule)	25,183	,,	9,222	9,445
	11	Investments—land, buildings, and equipment: basis ▶				'
		Less: accumulated depreciation (attach schedule) ▶				
	12	Investments—mortgage loans				
	13	Investments—other (attach schedule)				
	14	Land, buildings, and equipment: basis ▶				
		Less: accumulated depreciation (attach schedule) ▶				
	15	Other assets (describe ▶)				
	16	Total assets (to be completed by all filers—see the				
		instructions. Also, see page 1, item l)	2,021,973	2,92	8,529	3,006,324
	17	Accounts payable and accrued expenses				
S	18	Grants payable				'
謹	19	Deferred revenue				,
Liabilities	20	Loans from officers, directors, trustees, and other disqualified persons				
뿔	21	Mortgages and other notes payable (attach schedule)				•
_	22	Other liabilities (describe ▶)				-
	23	Total liabilities (add lines 17 through 22)		·		
		Foundations that follow SFAS 117, check here ▶ □	+			
8		and complete lines 24 through 26 and lines 30 and 31.	}			-
Balances	24	Unrestricted				
읆	25	Temporarily restricted				1
I	26	Permanently restricted		 		
Net Assets or Fund		Foundations that do not follow SFAS 117, check here ► 🕜				
۲		and complete lines 27 through 31.				
5	27	Capital stock, trust principal, or current funds	2,021,973	2,92	8,529	
బ్	28	Paid-in or capital surplus, or land, bldg., and equipment fund				
8	29	Retained earnings, accumulated income, endowment, or other funds		 		
ا تخ	30	Total net assets or fund balances (see page 17 of the	}		1	
ق ا		instructions)	2,021,973	2,92	8,529	
ᄀ	31	Total liabilities and net assets/fund balances (see page 17]		,	
Ц		of the instructions)	2,021,973	2,92	8,529	
		Analysis of Changes in Net Assets or Fund Balances				
1	Total	net assets or fund balances at beginning of year-Part II, colun	nn (a), line 30 (must	agree with		
		of-year figure reported on prior year's return)			1	2,021,973
		r amount from Part I, line 27a			2	906,556
3	Othe	r increases not included in line 2 (itemize) ▶	,		3	
4	Add I	lines 1, 2, and 3			4	2,928,529
		eases not included in line 2 (itemize)	····		5	
6	lotal	net assets or fund balances at end of year (line 4 minus line 5)-P	art II, column (b), line	30	6	2,928,529

_	(a) List and describe to 2-story brick wareho	(c) Date acquired (mo., day, yr.)	(d) Date sold (mo., day, yr)			
1a	See Attack	ned Schedule		D-Donation		
ь						
C						
d						
e						
	(e) Gross sales price	(f) Depreciation allowed (or allowable)		other basis nse of sale		Gain or (loss) us (f) minus (g)
а						
b						
С						
<u>d</u>			,			
<u>e</u>						
	Complete only for assets sho	owing gain in column (h) and owned	by the foundation	on 12/31/69		Col. (h) gain minus
	(i) F.M.V. as of 12/31/69 (i) Adjusted basis (k) Excess of col. (i) over col. (i), if any				not less than -0-) or s (from col. (h))	
а						
b			·			
c						
<u>d</u>						
e	<u> </u>					
2	Capital gain net income of		also enter in Pa enter -0- in Par		2	(23,606)
3	Net short-term capital gai	in or (loss) as defined in sections	1222(5) and (6):	:	_	
		l, line 8, column (c) (see pages 1:	and 17 of the	instructions).		
	If (loss), enter -0- in Part I] [3	18,137
Part	V Qualification Und	ler Section 4940(e) for Redu	ced Tax on N	et Investment I	ncome	
If sect Was t	tion 4940(d)(2) applies, leav he foundation liable for the s," the foundation does not	section 4942 tax on the distribut qualify under section 4940(e). D	able amount of o not complete	any year in the ba	se period?	☐ Yes ☐ No
1		ount in each column for each yea	r; see page 18	of the instructions	before making	
Cale	(a) Base period years endar year (or tax year beginning in	(b) Adjusted qualifying distributions	Net value of	(c) nonchantable-use asse		(d) Distribution ratio b) divided by col (c))
	2008	139	,644	2,281,	722	.061201145
	2007	154	,820	2,832,	162	.054664952
	2006	136	,646	2,659,	790	.051374733
	2005		,021	2,547,8		.052209835
	2004		,660	2,486,	346	.049735636
2	Total of line 1, column (d)				. 2	.269186301
3		for the 5-year base period—divid dation has been in existence if le		ne 2 by 5, or by tr	3 3	.053837260
4	Enter the net value of non-	charitable-use assets for 2009 fr	om Part X, line !	5	4	2,101,728
5	Multiply line 4 by line 3				5	113,151
6	Enter 1% of net investmen	nt income (1% of Part I, line 27b)			6	428
7	Add lines 5 and 6				7	113,579
8		ns from Part XII, line 4			8 at part using a	127,779
	Part VI instructions on page		. a 41, III (C 10,	, wie complete the	p i uoniy c	1 / Ju tax Tate. Occ the

Form	990-PF	(2009)

Part	Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948 – see page 18 of the	e ins	tructi	ons)	
1a	Exempt operating foundations described in section 4940(d)(2), check here ▶ ☐ and enter "N/A" on line 1.				
	Date of ruling or determination letter. (attach copy of letter if necessary—see instructions)	ووجعه المرجعة	المتحود	234,750	
b	Domestic foundations that meet the section 4940(e) requirements in Part V, check		428		
	here ► ✓ and enter 1% of Part I, line 27b				
C	All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b)				
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)				
3					
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)				
5	Tax based on Investment income. Subtract line 4 from line 3. If zero or less, enter -0		428		
6	Credits/Payments:				
a	2009 estimated tax payments and 2008 overpayment credited to 2009 6a 4000				
b	Exempt foreign organizations—tax withheld at source 6b				
٥	Tax paid with application for extension of time to file (Form 8868) . 6c		ļ		
d 7	Backup withholding erroneously withheld	-	4000		
8	Total credits and payments. Add lines 6a through 6d		4000		
9	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed				
10	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid > 10		3572		
11	Enter the amount of line 10 to be: Credited to 2010 estimated tax ▶ 1000 Refunded ▶ 11		2572		
Part	VII-A Statements Regarding Activities				
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it		Yes	No	
	participate or intervene in any political campaign?	1a		1	
b	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see page 19 of the instructions for definition)?	1b	,	1	
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials	-13			
	published or distributed by the foundation in connection with the activities.				
C	Did the foundation file Form 1120-POL for this year?	1c		1	
d	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year:				
	(1) On the foundation. ▶ \$ (2) On foundation managers. ▶ \$				
е	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation managers. ► \$				
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?	2		1	
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of		1		
	incorporation, or bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes	3	1	1	
4a	Did the foundation have unrelated business gross income of \$1,000 or more during the year?	4a		1	
b	If "Yes," has it filed a tax return on Form 990-T for this year?	4b	_		
5	Was there a liquidation, termination, dissolution, or substantial contraction during the year?	5			
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:		1		
•	By language in the governing instrument, or		1		
	By state legislation that effectively amends the governing instrument so that no mandatory directions that	1	1		
	conflict with the state law remain in the governing instrument?	6	1		
7	Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col. (c), and Part XV	7	1		
	Enter the states to which the foundation reports or with which it is registered (see page 19 of the instructions) ▶ Michigan				
	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate) of each state as required by General Instruction G? If "No," attach explanation				
^		8b	✓		
9	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for calendar year 2009 or the taxable year beginning in 2009 (see instructions for Part XIV on page	1	l		
	27)? If "Yes," complete Part XIV	9	ļ	1	
	Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their	-			
	names and addresses	10	1		

om	990-	PF	(2009)

		_
٦		
-au	ш	•

11 At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the meaning of section 512(b)(13)? If "Yes," attach schedule (see page 20 of the instructions)
meaning of section 512(b)(13)? If "Yes," attach schedule (see page 20 of the instructions) 12 Did the foundation acquire a direct or indirect interest in any applicable insurance contract before August 17, 2008? 13 Did the foundation comply with the public inspection requirements for its annual returns and exemption application? Website address ▶ Website address ▶ Telephone no. ▶ 618-874-8706 Located at ▶ 7140 Camino Del Rey Dr NE Rockford, IMI ZIP+4 ▶ 49341-9463 Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041—Check here. and enter the amount of tax exempt interest received or accrued during the year ▶ 15 Part VII-B Statements Regarding Activities for Which Form 4720 May Be Required File Form 4720 if any item is checked in the "Yes" column, unless an exception applies. During the year did the foundation (either directly or indirectly): (1) Engage in the sale or exchange, or leasing of property with a disqualified person?
August 17, 2008? Did the foundation comply with the public inspection requirements for its annual returns and exemption application? Website address ► The books are in care of ► Thomas B. Kladder Telephone no. ► 616-874-8706 Located at ► 7140 Camino Del Rey Dr NE Rockford, MI ZIP+4 ► 49341-9463 Section 4947(a)(1) nonexempt charitable trusts filling Form 990-PF in lieu of Form 1041—Check here and enter the amount of tax-exempt interest received or accrued during the year . ► 15 Part VII-B Statements Regarding Activities for Which Form 4720 May Be Required File Form 4720 if any item is checked in the "Yes" column, unless an exception applies. During the year did the foundation (either directly or indirectly): (1) Engage in the sale or exchange, or leasing of property with a disqualified person? . □ Yes ☑ No (2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from) a disqualified person? . □ Yes ☑ No (3) Furnish goods, services, or facilities to (or accept them from) a disqualified person? . □ Yes ☑ No (4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person? □ Yes ☑ No (5) Transfer any income or assets to a disqualified person (or make any of either available for the benefit or use of a disqualified person)? □ Yes ☑ No (6) Agree to pay money or property to a government official? (Exception. Check "No" if the foundation agreed to make a grant to or to employ the official for a period after termination of government service, if terminating within 90 days.) □ Yes ☑ No b If any answer is "Yes" to 1a(1)-(6), did any of the acts fail to qualify under the exceptions described in Regulations section 53.4941(d)-3 or in a current notice regarding disaster assistance (see page 20 of the instructions)? □ Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected before the first day of the tax year beginning in 2009? Taxes on failure to distribute income (section 4942)(does not apply
Did the foundation compty with the public inspection requirements for its annual returns and exemption application? Website address ▶ 14 The books are in care of ▶ Thomas B. Kladder
Website address ▶ The books are in care of ▶ Thomas B. Kladder
The books are in care of ▶ Thomas B. Kladder Telephone no. ▶ 616-874-8706 Located at ▶ 7140 Camino Del Rey Dr NE Rockford, MI ZIP+4 ▶ 49341-9463 15 Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041—Check here and enter the amount of tax-exempt interest received or accrued during the year . ▶ 15 Part VII-B Statements Regarding Activities for Which Form 4720 May Be Required File Form 4720 if any item is checked in the "Yes" column, unless an exception applies. 1a During the year did the foundation (either directly or indirectly): (1) Engage in the sale or exchange, or leasing of property with a disqualified person?
Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041—Check here
and enter the amount of tax-exempt interest received or accrued during the year ▶ 15 Part VII-B Statements Regarding Activities for Which Form 4720 May Be Required
File Form 4720 if any item is checked in the "Yes" column, unless an exception applies. 1a During the year did the foundation (either directly or indirectly): (1) Engage in the sale or exchange, or leasing of property with a disqualified person?
File Form 4720 if any item is checked in the "Yes" column, unless an exception applies. 1a During the year did the foundation (either directly or indirectly): (1) Engage in the sale or exchange, or leasing of property with a disqualified person?
During the year did the foundation (either directly or indirectly): (1) Engage in the sale or exchange, or leasing of property with a disqualified person?
(1) Engage in the sale or exchange, or leasing of property with a disqualified person?
(2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from) a disqualified person?
disqualified person?
(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person? . ☐ Yes ☑ No (4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person? . ☐ Yes ☑ No (5) Transfer any income or assets to a disqualified person (or make any of either available for the benefit or use of a disqualified person)? . ☐ Yes ☑ No (6) Agree to pay money or property to a government official? (Exception. Check "No" if the foundation agreed to make a grant to or to employ the official for a period after termination of government service, if terminating within 90 days.) ☐ Yes ☑ No If any answer is "Yes" to 1a(1)–(6), did any of the acts fail to qualify under the exceptions described in Regulations section 53.4941(d)-3 or in a current notice regarding disaster assistance (see page 20 of the instructions)? ☐ 1b C Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected before the first day of the tax year beginning in 2009? ☐ 1c Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation defined in section 4942()(3) or 4942()(5)): At the end of tax year 2009, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginning before 2009? ☐ Yes ☑ No If "Yes," list the years ▶ 20, 20, 20, 20
(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person? . □ Yes ☑ No (5) Transfer any income or assets to a disqualified person (or make any of either available for the benefit or use of a disqualified person)? . □ Yes ☑ No (6) Agree to pay money or property to a government official? (Exception. Check "No" if the foundation agreed to make a grant to or to employ the official for a period after termination of government service, if terminating within 90 days.) □ Yes ☑ No If any answer is "Yes" to 1a(1)–(6), did any of the acts fail to qualify under the exceptions described in Regulations section 53.4941(d)–3 or in a current notice regarding disaster assistance (see page 20 of the instructions)? . □ C Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected before the first day of the tax year beginning in 2009? □ . □ Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation defined in section 4942(j)(3) or 4942(j)(5)): a At the end of tax year 2009, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginning before 2009? □ . □ Yes ☑ No If "Yes," list the years ▶ 20 , 20 , 20 , 20 20
(5) Transfer any income or assets to a disqualified person (or make any of either available for the benefit or use of a disqualified person)?
the benefit or use of a disqualified person)?
foundation agreed to make a grant to or to employ the official for a period after termination of government service, if terminating within 90 days.)
termination of government service, if terminating within 90 days.)
b If any answer is "Yes" to 1a(1)–(6), did any of the acts fail to qualify under the exceptions described in Regulations section 53.4941(d)-3 or in a current notice regarding disaster assistance (see page 20 of the instructions)? Organizations relying on a current notice regarding disaster assistance check here Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected before the first day of the tax year beginning in 2009? Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation defined in section 4942(j)(3) or 4942(j)(5)): At the end of tax year 2009, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginning before 2009? 1b 1c Taxes on failure to distribute income (section 4942(j)(5)): At the end of tax year 2009, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginning before 2009? 1c Yes No If "Yes," list the years ≥ 20 , 20 , 20 , 20
section 53.4941(d)-3 or in a current notice regarding disaster assistance (see page 20 of the instructions)?
Organizations relying on a current notice regarding disaster assistance check here
c Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected before the first day of the tax year beginning in 2009? Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation defined in section 4942()(3) or 4942()(5)): a At the end of tax year 2009, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginning before 2009?
were not corrected before the first day of the tax year beginning in 2009?
operating foundation defined in section 4942(j)(3) or 4942(j)(5)): a At the end of tax year 2009, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginning before 2009?
6e, Part XIII) for tax year(s) beginning before 2009?
If "Yes," list the years ▶ 20 , 20 , 20 , 20
h Are there any years listed in 2a for which the foundation is not applying the provisions of eastion 4042/aVa\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \
(relating to incorrect valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to all years listed, answer "No" and attach statement—see page 20 of the instructions.)
c If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here.
▶ 20 .20 .20 .20
3a Did the foundation hold more than a 2% direct or indirect interest in any business enterprise
at any time during the year?
b If "Yes," did it have excess business holdings in 2009 as a result of (1) any purchase by the foundation or
disqualified persons after May 26, 1969; (2) the lapse of the 5-year period (or longer period approved by the
Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest; or (3) the lapse of
the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine if the
foundation had excess business holdings in 2009.)
4a Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes? 4a b Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its
charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2009?

	90-PF (2009)									Page 6
Par	t VII-B Statements Regarding Activities	es for V	Which Form	4720	May Be F	Requir	ed (continu	ıed)		
5a	 Ouring the year did the foundation pay or incur (1) Carry on propaganda, or otherwise attempt (2) Influence the outcome of any specific pub directly or indirectly, any voter registration of 	any am to influ lic elect	ount to: ence legislation ion (see sect	on (sec	tion 4945(e))? . arry on	☐ Yes ┤			ب لا بدر المدافعة بين والان
	(3) Provide a grant to an individual for travel, st(4) Provide a grant to an organization other that section 509(a)(1), (2), or (3), or section 4940	an a cha (d)(2)? (s	aritable, etc., see page 22 o	organiz of the in	zation desc astructions)	ribed ir	☐ Yes	_		
	(5) Provide for any purpose other than religiou purposes, or for the prevention of cruelty to							☑ No		-
b	If any answer is "Yes" to 5a(1)–(5), did any of the Regulations section 53.4945 or in a current notice	e regard	ing disaster a	ssistan	ce (see pag				5b	<u> </u>
С	Organizations relying on a current notice regard if the answer is "Yes" to question 5a(4), does because it maintained expenditure responsibility.	the fou	indation clain	n exem	ption from		(▶ ∐] No		
6a	If "Yes," attach the statement required by Regulation, during the year, receive any on a personal benefit contract?	/ funds,		directly	, to pay pro		s □Yes 1	 No		
b	Did the foundation, during the year, pay premiu If "Yes" to 6b, file Form 8870.	ms, dire	ectly or indire	ctly, on	a persona	benefi	t contract?		6ь	
7a b	At any time during the tax year, was the foundation If yes, did the foundation receive any proceeds	or have	any net inco	me attr	ibutable to	the tra			7b	
Part	Information About Officers, Dire	ctors,	Trustees, F	ounda	tion Man	agers,	Highly Pa	id En	nploye	es,
	and Contractors						 			
	List all officers, directors, trustees, foundation								structi	ons).
	(a) Name and address	hou	le, and average irs per week ted to position	(c) Co (If not	mpensation paid, enter -0-)	emple	Contributions to oyee benefit placement orred compens	ans		nse account, llowances
See A	ttached Schedule									
2	Compensation of five highest-paid employe If none, enter "NONE."	es (oth	er than thos	e inclu	ided on lin	e 1—s	ee page 2	3 of t	he inst	ructions).
((a) Name and address of each employee paid more than \$50,0	100	(b) Title, and a hours per v devoted to po	veek	(c) Comper	nsation	(d) Contributed employee be plans and def compensat	nefit erred		
None										
							.,			
Total r	number of other employees paid over \$50,000 .	· ·				• •				

Form 990-PF (2009)

_			
Form	990	₽F	(2009)

Pa	Information About Officers, Directors, Trustees, Foundation Managers, Highly Paid Em and Contractors (continued)	ployees,
3	Five highest-paid independent contractors for professional services (see page 23 of the instructions). If nor	e, enter "NONE."
	(a) Name and address of each person paid more than \$50,000 (b) Type of service	(c) Compensation
Non	θ	

=-		
lota	I number of others receiving over \$50,000 for professional services	·
Pai	t IX-A Summary of Direct Charitable Activities	
Lis	t the foundation's four largest direct chantable activities during the tax year. Include relevant statistical information such as the number of ganizations and other beneficianes served, conferences convened, research papers produced, etc.	Expenses
1	See Attached Schedule of Grants	
	Part XV FORM 990-PF	
2		
3		
4		
Day	t IX-B Summary of Program-Related Investments (see page 24 of the instructions)	
	Summary of Program-Related Investments (see page 24 of the instructions) scribe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2.	Amount
1	None	Anount
•	(AOIIE	
2		
2.		
IIA	other program-related investments. See page 24 of the instructions.	
3	None	
•	·	
Total	Add lines 1 through 3	

Part	Minimum Investment Return (All domestic foundations must complete this part. Forei see page 24 of the instructions.)	gn foundati	ons,
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc.,		
	purposes:		
a	Average monthly fair market value of securities	1a	2,133,734
b	Average of monthly cash balances	1b	
C	Fair market value of all other assets (see page 24 of the instructions)	1c	
đ	Total (add lines 1a, b, and c)	1d	2,133,734
e	Reduction claimed for blockage or other factors reported on lines 1a and		
	1c (attach detailed explanation)		
2	Acquisition indebtedness applicable to line 1 assets	2	
3	Subtract line 2 from line 1d	3	2,133,734
4	Cash deemed held for charitable activities. Enter 1 1/2 % of line 3 (for greater amount, see page 25 of		
	the instructions)	4	32,006
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	5	2,101,728
6	Minimum investment return. Enter 5% of line 5	6	105,086
Part	XI Distributable Amount (see page 25 of the instructions) (Section 4942(j)(3) and (j)(5) private foundations and certain foreign organizations check here ► ☐ and do not complete this part.)	operating	
1	Minimum investment return from Part X, line 6	1	105,086
2a	Tax on investment income for 2009 from Part VI, line 5		
b	Income tax for 2009. (This does not include the tax from Part VI.)		
C	Add lines 2a and 2b	2c	428
3	Distributable amount before adjustments. Subtract line 2c from line 1	3	104,658
4	Recoveries of amounts treated as qualifying distributions	4	
5	Add lines 3 and 4	5	104,658
6	Deduction from distributable amount (see page 25 of the instructions)	6	
7	Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII,		
	line 1	7	104,658
Part	Qualifying Distributions (see page 25 of the instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:		
а	Expenses, contributions, gifts, etc.—total from Part I, column (d), line 26	1a	127,779
b	Program-related investments—total from Part IX-B	1b	
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc.,		
	purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the:		
а	Suitability test (prior IRS approval required)	3a	
ь	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	127,779
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment income.		
	Enter 1% of Part I, line 27b (see page 26 of the instructions)	5	428
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	127,351
	Note. The amount on line 6 will be used in Part V. column (b), in subsequent years when calculating	whether the	e foundation
	qualifies for the section 4940(e) reduction of tax in those years.	,	

Part	XIII Undistributed Income (see page 26	of the instructions	s)		
1	Distributable amount for 2009 from Part XI,	(a) Corpus	(b) Years prior to 2008	(c) 2008	(d) 2009
_	line 7				104,658
2	Undistributed income, if any, as of the end of 2009:				
а	Enter amount for 2008 only				
b	Total for prior years: 20,20,20				
3	Excess distributions carryover, if any, to 2009:	1			
а	From 2004	ļ			
b	From 2005		1		
С	From 2006				
d	From 2007 8,590				
е	From 2008		1		
f	Total of lines 3a through e	34,148			
4	Qualifying distributions for 2009 from Part XII, line 4: ► \$127,779			•	
а	Applied to 2008, but not more than line 2a .				
b	Applied to undistributed income of prior years (Election required—see page 26 of the instructions)				
C	Treated as distributions out of corpus (Election				
	required—see page 26 of the instructions) .				
d	Applied to 2009 distributable amount				104,658
е	Remaining amount distributed out of corpus	23,121			
5	Excess distributions carryover applied to 2009		ì		÷
	(If an amount appears in column (d), the same amount must be shown in column (a).)				
6	Enter the net total of each column as indicated below:				
а	Corpus. Add lines 3f, 4c, and 4e. Subtract line 5	57,269			
Ь	Prior years' undistributed income. Subtract line 4b from line 2b				
С	Enter the amount of prior years' undistributed				
-	income for which a notice of deficiency has				
	been issued, or on which the section 4942(a)			Ī	
	tax has been previously assessed			j	
d	Subtract line 6c from line 6b. Taxable				
	amount – see page 27 of the instructions . Undistributed income for 2008. Subtract line				·
е	4a from line 2a. Taxable amount—see page				
	27 of the instructions		1		
f	Undistributed income for 2009. Subtract lines				
•	4d and 5 from line 1. This amount must be		j		
	distributed in 2010)	1		
7	Amounts treated as distributions out of corpus	-			
•	to satisfy requirements imposed by section	1	1		
	170(b)(1)(F) or 4942(g)(3) (see page 27 of the instructions)				
8	Excess distributions carryover from 2004 not				
	applied on line 5 or line 7 (see page 27 of the instructions)				
9	Excess distributions carryover to 2010.				
•	Subtract lines 7 and 8 from line 6a	57,269	}		
10	Analysis of line 9:	57,269			
	Excess from 2005	1	Ì	1	
	Excess from 2006	ļ	ļ		
		{	l	1	
C		1	Ì		
ď	Excess from 2008	1	1		
	23,121	ı		j	

Form 9	90-PF (2009)					Page 10
Part	XIV Private Operating Founda	tions (see pag	e 27 of the instru	uctions and Part \	/II-A, question 9)	
1a	If the foundation has received a rulin	g or determinatio	n letter that it is a	private operating		
	foundation, and the ruling is effective for	or 2009, enter the	date of the ruling .		L	
Ь	Check box to indicate whether the fou		te operating found	ation described in s	ection 🗌 4942(j)	(3) or 🗌 4942(j)(5)
2a	Enter the lesser of the adjusted net income from Part I or the minimum	Tax year		Prior 3 years	~	(e) Total
	investment return from Part X for each year listed	(a) 2009	(ь) 2008	(c) 2007	(d) 2006	
þ	85% of line 2a				1	
C	Qualifying distributions from Part XII,	1		j		
_	line 4 for each year listed	<u> </u>			 	
d	Amounts included in line 2c not used directly for active conduct of exempt activities					
е	Qualifying distributions made directly					
	for active conduct of exempt activities. Subtract line 2d from line 2c				į	
3	Complete 3a, b, or c for the alternative test relied upon:					
а	"Assets" alternative test enter:	\		}	}	
	(1) Value of all assets	İ]		
	(2) Value of assets qualifying under					
	section 4942(j)(3)(B)(i)					
b	"Endowment" alternative test—enter 2/3 of minimum investment return shown in Part X, line 6 for each year listed					
C	"Support" alternative test-enter:					
	(1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)					
	(2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)					
	(3) Largest amount of support from					
	ал exempt organization			<u> </u>		
	(4) Gross investment income	(0 - 1 1 - 1			1.05.000	
Part		•	-		iad \$5,000 or me	ore in assets at
	any time during the year-		the instruction	ns.)	·-· · · · · · · · · · · · · · · · · · ·	
1	Information Regarding Foundation List any managers of the foundation			0/ of the total cont		hu tha faundation
а	before the close of any tax year (but of					by the louridation
None	belove the overe of any tax year (but o	my in they have t		40,000). (000 0	001,011	
b	List any managers of the foundation ownership of a partnership or other en					rge portion of the
None		,,		1070 or grounds are	u. 00.11	
2	Information Regarding Contribution	. Grant. Gift. Lo	an, Scholarship,	etc Programs:		
_	Check here $\blacktriangleright \Box$ if the foundation unsolicited requests for funds. If the	onty makes conf foundation mak	tributions to prese es gifts, grants, e	elected charitable		
	organizations under other conditions,					
a	The name, address, and telephone nu	ımber of the pers	on to whom applic	cations should be a	ddressed:	
Thoma	as B. Kladder, 7140 Camino Del Rey Dr. N	IE, Rockford, MI 49	9341			
b	The form in which applications should	be submitted an	d information and	materials they sho	uld include:	
A lette	r explaining the charitable purpose, Deta	illed project info, (Completed grant red	quest form. Request	for forms to addres	ss above.
C	Any submission deadlines:					
	sts are reviewed in April and September					
d	Any restrictions or limitations on aw factors:	vards, such as b	by geographical a	reas, charitable fie	elds, kinds of inst	titutions, or other

The request must be consistant with the mission statement of the foundation

	Supplementary information (conti				
3	Grants and Contributions Paid During t	he Year or Approv	ed for Fu	ture Payment	,
	Recipient	If recipient is an individual, show any relationship to any foundation manager	- Cuito- C.	Purpose of grant or contribution	Amount
	Name and address (home or business)	any foundation manager or substantial contributor	recipient	Condition	
	Paid during the year				
See /	Attached Schedule			1	
				İ	
			Ì		
			}		Ì
]
			1		
					1
					[
					Ì
					ļ
					}
		i			
				,	1
		i			
					}
		ļ			
	Total			▶ 3a	114,700
b	Approved for future payment	<u> </u>	· · · ·	▶ 3a	114,700
	,,				
			İ		
			1		
					•
			ļ		
		ļ			
]		
	Total			> 3h	
	TOTAL				

Pa	rt X\	VI-A Analysis of Income-Producing Ad	ctivities	·			- Fage 17
		ss amounts unless otherwise indicated.	, - · - · · - · · · · · · · · · · · · · 	isiness income	Excluded by sect	ion 512, 513, or 514	(e)
1		gram service revenue:	(a) Business code	(b) Amount	(c) Exclusion code	(d) Amount	Related or exemp function income (See page 28 of the instructions.)
	а				†		
	b				<u> </u>		
	C		1		 		
	ď						
	e		·				
	f				1		
	g	Fees and contracts from government agencies					
2		mbership dues and assessments			1		
3		rest on savings and temporary cash investments			14	276	
4		dends and interest from securities			14	64,050	
5		rental income or (loss) from real estate:			 		
-		Debt-financed property	J		 		
		Not debt-financed property			1		
6		rental income or (loss) from personal property				 	· · · · · · · · · · · · · · · · · · ·
7		er investment income	<u> </u>		 		
8		or (loss) from sales of assets other than inventory	1		18	(23,606)	
9		income or (loss) from special events			 	(20,000)	· · · · · · · · · · · · · · · · · · ·
10		ss profit or (loss) from sales of inventory			 		
11		er revenue: a	<u> </u>		1		·····
••		Securities Litigation Settlement	 		14	5,346	
	c -			· · · · · · · · · · · · · · · · · · ·		3,3-10	<u> </u>
	ď				 		
	e -		ļ		 	· · ·	
12	-	total. Add columns (b), (d), and (e)	 		 	46,066	
			L			13	46,066
(See	work	sheet in line 13 instructions on page 28 to verify		· · · · ·		13	40,000
	rt XV			ent of Exemp	t Purposes		
	e No. ▼		income is repo ourposes (other	rted in column than by providir	(e) of Part XVI- ng funds for suc	A contributed in purposes). (See	nportantly to the page 29 of the
							·· · · <u>- · · · · - · · - · · - · · - · · - · · - ·</u>
					·	<u> </u>	<u> </u>
					· . · · · · · · · · · · · · · · · · · ·		
							•
					· - · · · · · · · · · · · · · · · · · ·		
			·				·
					-		

ra	LAVI		rganizations	misicis io and mar	isactions and	neiau	unanipa Wi	III NONCHA	IRADI	E	
1	Did			y engage in any of the	following with a	nv other	organization	described		Yes	No
				n section 501(c)(3) org							
	org	anizations?		_	•				1		ĺ
а	Trai	nsfers from the re	porting foundation	to a noncharitable exe	empt organizatio	on of:					
	(1)	Cash		· · · · · · · ·					1a(1)		1
	(2)	Other assets .							1a(2)		1
b	_	er transactions:									İ
				kempt organization					1b(1)		1
				itable exempt organiza		- •			1b(2)		✓
				ner assets					1b(3)		1
			_						1b(4)		\
		Loans or loan gua							1b(5)		√
_				ship or fundraising soli					16(6)		√
C				lists, other assets, or ples," complete the following					1c	L	
d	vali	ie aliswel to ally le of the goods o	of the above is it	vices given by the rep	owing scriedule	n If the	n (b) should foundation r	aiways snov	than	fair m	arke
				gement, show in colur							
(a) L	ne no	(b) Amount involved		chantable exempt organizati			transfers, transa				
			· · · · · · · · · · · · · · · · · · ·	, , ,	,,						
							· · · · · · · · · · · · · · · · · · ·			-	
_											
]										
											
					<u> </u>						
				 			 				
			-							····	
											
22	le th	ne foundation dire	octhy or indirectly a	ffiliated with, or relate	ed to one or m	om tax	exempt ema	nizations			
26				other than section 50					l Vac		No
ь			following schedule		. (-)(-), -:			_	1 100	ъ.	10
		(a) Name of organ		(b) Type of org	anization	T	(c) Descri	ption of relation	ship		
						1		·			
						T					
										_	
	Under	penalties of penury, I	declare that I have exa	imined this return, including	accompanying sch	edules and	statements, an	d to the best o	fmy kr	nowledg	je and
	belief	it is true, correct, and	complete. Declaration of	preparer (other than taxpay		sed on all a	nformation of wh	ich preparer ha	sany k	nowled	30 .
_	_	omar D.	xuoon_	TREASURCR	5/6/1	0	Treasure	<u> </u>			
Sign Here	F Sig	nature of officer or trus	stee	·	Date	1	Title				
Ĭ		1			Date		.,	Preparer's id	-	-	_
igi	_255				}	Check self-en	if ployed ▶ 🔲	number (see page 30 of the			
S	para	Preparer's				3211-211	ا ۱۰۰۰،۰۰۰	page or or u			∽ ,
	Paid Preparer's Use Only	signature Firm's name (or you	rs if A		L	ــــــــــــــــــــــــــــــــــــــ	TINA				
	_	self-employed), add	ress,				Phone no.				
		_ wid 2ir 0008					· HOIR IN.				

Schedule B

(Form 990, 990-EZ. or 990-PF

Department of the Treasury

Name of the organization

Schedule of Contributors

Attach to Form 990, 990-EZ, or 990-PF.

OMB No. 1545-0047

Employer identification number The Zondervan Foundation 38 2411884 Organization type (check one): Filers of: Section: Form 990 or 990-EZ 501(c)() (enter number) organization 4947(a)(1) nonexempt charitable trust not treated as a private foundation ☐ 527 political organization Form 990-PF 501(c)(3) exempt private foundation 4947(a)(1) nonexempt charitable trust treated as a private foundation 501(c)(3) taxable private foundation Check if your organization is covered by the General Rule or a Special Rule. Note. Only a section 501(c)(7), (8), or (10) organization can check boxes for both the General Rule and a Special Rule. See instructions. General Rule For an organization filing Form 990, 990-EZ, or 990-PF that received, during the year, \$5,000 or more (in money or property) from any one contributor. Complete Parts I and II. **Special Rules** For a section 501(c)(3) organization filing Form 990 or 990-EZ that met the 331/4 % support test of the regulations under sections 509(a)(1) and 170(b)(1)(A)(vi), and received from any one contributor, during the year, a contribution of the greater of (1) \$5,000 or (2) 2% of the amount on (i) Form 990, Part VIII, line 1h or (ii) Form 990-EZ, line 1. Complete Parts I and H. For a section 501(c)(7), (8), or (10) organization filing Form 990 or 990-EZ that received from any one contributor, during the year, aggregate contributions of more than \$1,000 for use exclusively for religious, charitable, scientific, literary, or educational purposes, or the prevention of cruelty to children or animals. Complete Parts I, II, and III. For a section 501(c)(7), (8), or (10) organization filing Form 990 or 990-EZ that received from any one contributor, during the year, contributions for use exclusively for religious, charitable, etc., purposes, but these contributions did not aggregate to more than \$1,000. If this box is checked, enter here the total contributions that were received during the year for an exclusively religious, chantable, etc., purpose. Do not complete any of the parts unless the General Rule applies to this organization because it received nonexclusively religious, charitable, etc., contributions of \$5,000 or more Caution. An organization that is not covered by the General Rule and/or the Special Rules does not file Schedule B (Form 990, 990-EZ, or 990-PF), but it must answer "No" on Part IV, line 2 of its Form 990, or check the box on line H of its Form 990-EZ, or on line 2 of its Form 990-PF, to certify that it does not meet the filing requirements of Schedule B (Form 990, 990-EZ, or 990-PF).

Schedule B	(Form 990, 990-EZ, or 990-PF) (2009)		Page of of Part
Name of	organization	E	mployer identification number
Part I	Contributors (see instructions)		
(a) No.	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
1	Peter J. Zondervan Marital Trust 111 Lyon St NW Suite 900 Grand Rapids, MI 49503	\$1,010,353	Person Payroll Noncash (Complete Part II if there is a noncash contribution.)
(a) No.	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
		\$	Person Payroli Noncash (Complete Part II of there is a noncash contribution.)
(a) No.	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II if there is a noncash contribution.)
(a) No.	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II if there is a noncash contribution.)
(a) No.	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II if there is a noncash contribution)
(a) No.	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II if there is a noncash contribution.)

Part I Line 1 Detail

Assets Received from Peter J Zondervan Marital Trust

<u>Face</u> <u>Value</u> (Cost
Money Market 24	15,320.00
Bonds	
Anheuser Busch 10000	9,221.80
U.S. Treasury Notes C-2012 10000	12,640.89
_	10,275.53
	0,079.51
San Marcos Ca Pub Facs Auth 10000	9,977.38
	20,240.00
	0,004.30
Grand Rapids Kent Cty Bldg 10000	•
	6,791.00
	5,191.26
Ca St 5.125% 2007 6/01/22 5000	5,195.05
Total Cost	9,616.73
Other	
	9,313.92
	4,334.00
	0,390.00
ING Groep Perp 6.2% 400 18.23	7,292.00
Ishares MSCI Singapore 200 10.29	2,058.00
	1,990 00
	4,655.00
* • • • • • • • • • • • • • • • • • • •	9,632.00
	8,440.00
	4,730.00 3,696.00
200 10.10	0,000.00
6	6,530.92
Mutual Funds	
AlM Income Fund 1096.475 4.67	5,120.54
—	5,050.00
	4,289.31
	7,950.04
	5,190.80
<u>. </u>	3,484.80
	5,419.43
	5,324.00 7,400.00
	7,400.00 9,967.34
, , , , , , , , , , , , , , , , , , , ,	5,907.5 4 5,738.64
	1,888.78
• • • • •	5,531.30
	5,927.12

Part I Line 1 Detail

			219,282.10
Stocks			
Adobe Systems	100	32.42	3,242.00
Aegeon Marine Petroleum	100	18.29	1,829.00
Bank of America	300	16.70	5,010.00
Baxter Intl, Inc.	400	54.88	21,952.00
Berkshire Hathaway		1069 50	106,950.00
Canadian Natural Resources	200	61.61	12,322.00
Conoco Phillips	100	44.12	4,412.00
Diebold	500	30.90	15,450.00
DineEquity	100	23.40	2,340.00
Du Pont	200	32.46	6,492.00
Dune Energy	400	0.62	249.80
Eagle Bulk Shipping	200	5 49	1,098.00
EQT Corporation	200	38.82	7,764.00
Edwards Lifesciences	160	63.44	10,150.40
Frontier Communication	300	7.01	2,103.00
General Electric	100	14.31	1,431.00
Koninklijke/Philips Elec	156	23.18	3,616.08
Lawson Software	400	5.81	2,324.00
Lloyds Banking Group	410	7.08	2,902.80
Motors Liquidation	100	0.53	52.50
Nabors Industries	200	17.53	3,506.00
Newmont Mining	200	42.32	8,464.00
Occidental Petroleum	800	69.88	55,904.00
Pengrowth Energy Trust	220	8.32	1,830.40
Pfizer	200	15.79	3,158.00
Pharmaceutical Prod Develop	200	20.47	4,094.00
Robbins & Myers, Inc	200	21.71	4,342.00
Royal Bank Of Canada	400	46.86	18,744.00
Royal Dutch Shell	400	51.91	20,764.00
Henry Schein, Inc.	100	50.23	5,023.00
Southwest Airlines	500	9.15	4,575.00
Telephone & Data Services	100	26.52	2,652.00
Texas Industries	50	42.18	2,109.00
US GeoThermal	1000	1.74	1,740.00
Walgreen	100	30.53	3,053.00
Wells Fargo	800	27.97	22,376.00
Weyerhaeuser	150	37.19	5,578.50
			379,603.48
Total Securities			665,416.50
Total Assets			1,010,353.23

Part I Line 11 Detail

Securities Litigation Settlements

\$5,346.00

١	֡	ľ		
	=	i		
۱	J	ι	ž	į
		_		
٦	٠		1	
4	τ			
•			ı	
		3	٠.	
١		٦	١	
		1	ľ	
ò		i	٠	
٠	ø	٠	ı	
ř	٩	۲	٦	١
•	۰		•	
	٠			
٠	Ė		t	
ė	•	۰	٠	
L			1	
		_		
	٠		ı	
	•	^	١	
ì	Ì		١	١
	•	٦		
١				
۲				

Form 990-PF Tax Year 2009	•	The Zondervan Foundation	ındation			Tax ID#
BEGINNING OF THE YEAR	<u>Face</u> <u>Value</u>	Cost	,	Market	Gain (Loss)	
Part II Line 2 Detail						
Money Market		133,458.49		133,458.49		
Part II Line 10 a Detail						
FT Franklin US Gov't	11041.978 FKUSX	77,072.00	6.620	73,097.89	(3,974.11)	
		77,072.00		73,097.89	(3,974.11)	
Part II Line 10 b Detail						
Other						
	500 26.76	13,380.00	28.130	14,065.00	685.00	
Alliance World Dollar	⋖	15,294.00	7.610	9,132.00	(6,162.00)	
rerreigas Partners (⊦GP) Templeton Global	500 23.54 7600 XGIMX	11,770.00 58,762.00	14.660 7.770	7,330.00 59,051.24	(4,440.00) 289.24	
		99,206.00		89,578.24	(9,627.76)	
Mutual Funds						
Alliance Global Fund	1285.115 ALTFX	49,161.00	42.470	54,578.83	5,417.83	
		49,161.00		54,578.83	5,417.83	
Stocks						
AFLAC	1000 40.75	40.748.01	45.840	45.840.00	5 091 99	
Abbott Labs	1000 41.52	41,515.35	53.370	53,370.00	11.854.65	
Adelphia Recovery Trust		9 2 6	0.010	95.68	87.92	
AEGON NV		38,625.01	6.050	15,367.00	(23,258.01)	
Allied Capital		43,616.34	2.690	4,035.00	(39,581.34)	
Apollo Goup		14,346.67	76.620	86,197.50	71,850.83	
Automatic Data Proc BB&T	500 38.40	19,200.00	39 34 27 460	19,670.00	470.00	
Cardinal Health		58.810.60	24.1400	41,190.00	(14,963.91)	
China Mobile		13,636,00	50.470	81,360,00	(24,340.69) 67,724,00	
Donnelley (R.R.) & Sons	_	36,392,35	13.580	27,160.00	(9.232.35)	
Du Pont		44,827.78	25.300	25,300.00	(19,527.78)	
Eastman Chemical	1000 43.93	43,931.88	31.710	31,710.00	(12,221.88)	

Foundation
Sondervan
Ţ

Form 990-PF Tax Year 2009

BEGINNING OF THE YEAR	Face Value	. '	Cost		Market	<u>Gain</u> (Loss)
Eaton Corp	400	51.01	20,405.00	49.710	19.884.00	(521.00)
Emerson Electric	900	37.56	18,780.00	36.610	18,305.00	(475.00)
Arthur J. Gallagher	1000	31.91	31,909.51	25.910	25,910.00	(5,999.51)
General Electric	1500	34.25	51,375.58	16.200	24,300.00	(27,075.58)
Heinz	1000	32.35	32,346.62	37.600	37,600.00	5,253.38
Home Depot	1000	21.15	21,152.99	23.020	23,020.00	1,867.01
Humana	1000	9.24	9,242.56	37.280	37,280.00	28,037.44
Intel	2700	24.46	66,049.00	14.660	39,582.00	(26,467.00)
IBM	200	127.24	25,448.00	84.160	16,832.00	(8,616.00)
Johnson & Johnson	1000	55.97	55,968.31	59.830	59,830.00	3,861.69
Medtronic	400	46.04	18,417.00	31.420	12,568.00	(5,849.00)
Mylan Laboratories	2250	11.29	25,404.00	9.890	22,252.50	(3,151.50)
	800	25.51	20,405.00	18.180	14,544.00	(5,861.00)
New York Comm. Bancorp	2000	22.76	45,974.56	11.960	23,920.00	(22,054.56)
PartnerRe LTD	1000	49.09	49,093.06	71.270	71,270.00	22,176.94
Paychex	1400	37.24	52,129.01	26.280	36,792.00	(15,337.01)
Pfizer	2200	29.02	63,846.66	17.710	38,962.00	(24,884.66)
Southwest Airlines	1555	13.66	21,249.00	8.620	13,404.10	(7,844.90)
Stryker Corp	1000	45.32	45,321.94	39.950	39,950.00	(5,371.94)
Sysco Corp	700	25.50	17,848.00	22.940	16,058.00	(1,790.00)
Taiwan Semiconducter	5049	11.41	57,584.83	7.900	39,887.10	(17,697.73)
Time Warner Cable	201	49.23	9,894.24	21.450	4,311.45	(5,582.79)
Total System Services	296	30.08	29,087.13	14.000	13,538.00	(15,549.13)
United Parcel Service	1000	78.01	78,014.34	55.160	55,160.00	(22,854.34)
UnitedHealth Corp	1200	50.31	60,376.22	26.600	31,920.00	(28,456.22)
Walgreen	1300	44.40	57,714.98	24.670	32,071.00	(25,643.98)
Waste Management	009	30.14	18,083.00	33.140	19,884.00	1,801.00
Wells Fargo	1700	35.70	60,682.33	29.480	50,116.00	(10,566.33)
Worthington Inds.	2000	20.47	40,932.37	11.020	22,040.00	(18,892.37)
Xilinx	006	20.89	18,804.03	17.820	16,038.00	(2,766.03)
Zimmer Holdings	800	78.17	62,537.46	40.420	32,336.00	(30,201.46)
			1,637,892.48		1,375,332.33	(262,560.15)
Total Securities			1,786,259.48		1,519,489.40	(266,770.07)

Part II Line 10 c Detail

Bonds

25,183.00 1.00141

25,035.25

(147.75)

25000 100.72

Bank America

	Gain (Loss)	(147.75)	(270,891.93)
_	Market	25,035.25	1,751,081.04
The Zondervan Foundation	Cost	25,183.00	2,021,972.97
	Face Value		
Form 990-PF Tax Year 2009	BEGINNING OF THE YEAR	Total Cost	Total Assets

The Zondervan Foundation

Form 990-PF Tax Year 2009

END THE YEAR	Face Value	ı	Cost	·	Market	Gain (Loss)
Part II Line 2 Detail						
Money Market			639,715.63		639,715.63	
Part II Line 10 a Detail						
FT Franklin US Gov't	11041.978 FKUSX	KUSX	77,072.00	6.64	73,318.73	(3.753.27)
U.S. Treasury Notes C-2012	10000		12,640.89		12,926.43	285.54
Ca. State Dept Water	10000		10,275.53		10,554.20	278.67
Anaheim Ca Pub Fing Auth	10000		10,079.51		10,370.90	291.39
San Marcos Ca Pub Facs Auth	10000		9,977.38		10,374.30	396.92
San Francisco Ca City Cty Arpts	20000		20,240.00		20,250.20	10.20
Ca St Rfdg	10000		10,004.30		10,004.30	•
Grand Rapids Kent Cty Bldg	10000		6,791.00		6,716.30	(74.70)
Ca St 5.125% 6/01/22	2000		5,191.26		5,326.50	135.24
Ca St 5.125% 2007 6/01/22	2000		5,195.05		5,330.15	135.10
Eaton Vance Ca Muni Income Tr	404	12.50	5,050.00	11.90	4,807.60	(242.40)
Nuveen Ca Select Muni	380	13.66	5,190.80	13.29	5,050.20	(140.60)
Virtus High-Yeild Fund	1551.603	3.82	5,927.12	3.99	6,190.90	263.77
Total Cost			183,634.85		181,220.71	(2,414.14)

	١			
	۱	ļ		
		į		
		١		
		ì		
	١			
	۱	į		
ı			ì	

Form 990-PF Tax Year 2009		The Zond	The Zondervan Foundation	c		Tax Id # 35-2411884
END THE YEAR	Face Value	•	Cost	•	Market	Gain (Loss)
Part II Line 10 b Detail						
Other						
Amerigas (APU)	500	26.76	13 380 00	30 33	10 665 00	6 286 00
Alliance Global High Incom Fund	1984	11 73	24 607 92	13.25	26,367,36	750.00
Enerplus Resources	200	21.67	4.334.00	22.96	4 592 00	1, 38, 1, 1 0, 8, 1, 1
Ferrelgas Partners (FGP)	200	23.54	11,770.00	21.13	10,565,00	(1 205 00)
ING Groep Perp 7.2%	200	20.78	10,390.00	19.28	9,640.00	(750.00)
ING Groep Perp 6.2%	400	18.23	7,292.00	16.87	6,748.04	(543.96)
Ishares MSCI Singapore	200	10.29	2,058.00	11.49	2,298.00	240.00
Ishares MSCI Japan	200	9.95	1,990.00	9.74	1,948.00	(42.00)
Ishares MSCI Dow Jones	100	46.55	4,655.00	53.03	5,303.00	648.00
Royce Micro Cap Trust	400	24.08	9,632.00	24.80	9,920.00	288.00
Senior Housing Trust	400	21.10	8,440.00	21.87	8,748.00	308.00
SPDR Gold Trust	20	94.60	4,730.00	107.31	5,365.50	635.50
Templeton Global		XGIMX	58,762.00	9.50	72,200.00	13,438.00
Williams Pipeline Partners	200	18.48	3,696.00	23.80	4,760.00	1,064.00
			165,736.92		188,119.90	22,382.98
Mutual Funds						
AIM Income Fund	1096.475	4.67	5,120.54	4.81	5,274.05	153.51
Alliance Global Fund	1285.115 ALTFX	\LTFX	49,161.00	65.22	83,815.20	34,654.20
Europacific Growth	121.89	35.19	4,289.31	38.34	4,673.26	383.95
Fundemental Investors	267.498	29.72	7,950.04	32.73	8,755.21	805.17
Oppenheimer Commodity	1055.999	3.30	3,484.80	3.42	3,611.52	126.72
			70,005.68		106,129.24	36,123.55
Stocks						
AFLAC	1000	40.75	40,748.01	46.25	46,250.00	5.501.99
Abbott Labs	1000	41.52	41,515.35	53.99	53,990.00	12,474.65
Adelphia Recovery Trust	9768	0.00	9.76	0.03	312.58	302.82
Adobe Systems	100	32.42	3,242.00	36.78	3,678.00	436.00
Aegeon Marine Petroleum	100	18.29	1,829.00	27.48	2,748.00	919.00
AEGON NV	2540	15.21	38,625.01	6.41	16,281.40	(22,343.61)
Allied Capital	1500	29.08	43,616.34	3.61	5,415.00	(38,201.34)
Apollo Goup Automatic Data Proc	1125 500	12.75 38.40	14,346.67	60.58	68,152.50	53,805.83
	8	0. 1.	9,200.00	47.02	4,17	2,2 10.00

\subseteq
0
ž
ä
ס
Ē
3
0
Ĭ.
_
_
ā
2
ѿ
Ŏ
Ξ
Ō
Ū
w
Ĕ
_

Gain (Loss)	(492.00)	1,520.00	(7,750.00)	2,068.00	(6,967.13)	(7,098.56)	60,652.00	695.00	(1,225.00)	89.00	8,147.65	(10,915.78)	(159.80)	(110.00)	16,308.12	5,043.00	2,520.00	240.00	(9,399.51)	(28,598.58)	10,413.38	7,777.01	34,647.44	(10,969.00)	732.00	8,441.69	976.56	336.00	(1,562.10)	(825.00)	16,063.50	872.00	6,459.00	(16,954.56)	9,176.00	25,586.94	(9,233.01)	288.20	594.00	362.00
Market	4,518.00	23,472.00	99,200.00	14,390.00	32,240.00	12,505.00	74,288.00	5,107.00	14,225.00	2,429.00	44,540.00	40,404.00	90.00	988.00	60,240.00	25,448.00	21,300.00	2,343.00	22,510.00	24,208.00	42,760.00	28,930.00	43,890.00	55,080.00	26,180.00	64,410.00	4,592.64	2,660.00	1,340.70	17,592.00	41,467 50	4,378.00	26,864.00	29,020.00	65,080.00	74,680.00	42,896.00	2,118.60	4,688.00	4,704.00
'	15.06	58.68	992.00	71.95	32.24	25.01	46.43	51.07	28.45	24.29	22.27	33.67	0.23	4.94	60.24	63.62	42.60	7.81	22.51	15.13	42.76	28.93	43.89	20.40	130.90	64.41	29.44	6.65	3.27	43.98	18.43	21.89	33.58	14.51	81.35	74.68	30.64	9.63	23.44	23.52
Cost	5,010.00	21,952.00	106,950.00	12,322.00	39,207.13	19,603.56	13,636.00	4,412.00	15,450.00	2,340.00	36,392.35	51,319.78	249.80	1,098.00	43,931.88	20,405.00	18,780.00	2,103.00	31,909.51	52,806.58	32,346.62	21,152.99	9,242.56	66,049.00	25,448.00	55,968.31	3,616.08	2,324.00	2,902.80	18,417.00	25,404.00	3,506.00	20,405.00	45,974.56	55,904.00	49,093.06	52,129.01	1,830.40	4,094.00	4,342.00
•	16.70	54.88	1069.50	61.61	39.21	39.21	8.52	44.12	30.90	23.40	18.20	42.77	0.62	5.49	43.93	51.01	37.56	7.01	31.91	33.00	32.35	21.15	9.24	24.46	127.24	55.97	23.18	5.81	7.08	46.04	11.29	17.53	25.51	22.76	69.88	49.09	37.24	8.32	20.47	21.71
Face Value	300	400		200	1000	200	1600	10	200	100	2000	1200	400	200	1000	400	200	300	1000	1600	1000	1000	1000	2700	200	1000	156	400	410	400	2250	200	800	2000	800	1000	1400	220	200	200
END THE YEAR	Bank of America	Baxter Intl, Inc.	Berkshire Hathaway	Canadian Natural Resources	Cardinal Health	Carefusion Corp	China Mobile	Conoco Phillips	Diebold	DineEquity	Donnelley (R.R.) & Sons	Du Pont	Dune Energy	Eagle Bulk Shipping	Eastman Chemical	Eaton Corp	Emerson Electric	Frontier Communication	Arthur J. Gallagher	General Electric	Heinz	Home Depot	Humana	Intel	IBM	Johnson & Johnson	Koninklijke/Philips Elec	Lawson Software	Lloyds Banking Group	Medtronic	Mylan Laboratories	Nabors Industries	NII Holdings	New York Comm. Bancorp	Occidental Petroleum	PartnerRe LTD	Paychex	Pengrowth Energy Trust	Pharmaceutical Prod Develop	Robbins & Myers, Inc

Gain (Loss)

Form 990-PF Tax Year 2009		The Zor	The Zondervan Foundation	c	
END THE YEAR	Face				
	Value		Cost	•	Market
Royal Bank Of Canada	400	46.86	18.744.00	53.55	21 420 00
Royal Dutch Shell	400	51.91	20,764.00	60.11	24,044,00
Henry Schein, Inc.	100	50.23	5,023.00	52.60	5,260.00
Southwest Airlines	2055	12.57	25,824.00	11.43	23,488.65
Stryker Corp	1000	45.32	45,321.94	50.37	50,370.00
Sysco Corp	700	25.50	17,848.00	27.94	19,558.00
Taiwan Semiconducter	5074	11.35	57,582.05	11.44	58,046.56
Telephone & Data Services	100	26.52	2,652.00	33.92	3,392.00
Time Warner Cable	29	49.23	9,894.24	41.39	2,773.13
Total System Services	296	30.08	29,087.13	17.27	16,700.09
US GeoThermal	1000	1.74	1,740.00	1.53	1,530.00
United Parcel Service	1000	78.01	78,014.34	57.37	57,370.00
UnitedHealth Corp	1200	50.31	60,376.22	30.48	36,576.00
Walgreen	1400	43.41	60,767.98	36.72	51,408.00
Waste Management	900	30.14	18,083.00	33.81	20,286.00
Wells Fargo	2500	33.22	83,058.33	26.99	67,475.00
Worthington Inds.	2000	20.47	40,932.37	13.07	26,140.00
Xilinx	006	20.89	18,804.03	25.06	22,554.00
Zimmer Holdings	800	78.17	62,537.46	59.11	47,288.00
			1,860,214.21		1,881,693.35
Total Securities			2,095,956.81		2,175,942.49
Part II Line 10 c Detail					
Bonds					
Anheuser Busch	10000		9,221.80		9,445.40
Total Cost			9,221.80		9,445.40
Total Assets			2,928,529.09		3,006,324.23

2,676.00 3,280.00 237.00 (2,335.35) 5,048.06 1,710.00 (7,121.11) (12,387.04) (210.00) (20,644.34) (23,800.22) (9,359.98) 2,203.00 (15,583.33) (14,792.37) 3,749.97

223.60

21,479.14

79,985.67

223.60

77,795.14

Part IV Capital Gains and Losses for Tax on Investment income

Short-Term

(<u>a</u>)	a	ටු	ପ୍ର	Shares		(e)	(b)	Ą
AIM High Income Mun Fund	۵	8/13/2009	9/22/2009	785.424	7.51	5,898.53	5,419,43	479.10
Blackrock Ca Mun Inc Trust	۵	8/6/2009	9/22/2009	1200	13.76	16,514.53	15,324.00	1,190.53
Blackrock Ca Mun 2018 Term	Ω	8/6/2009	9/22/2009	1200	15.14	18,170.80	17,400.00	770.80
Franklin Federal Tax Free	۵	8/13/2009	9/22/2009	7919.66	11.92	94,402.35	89,967.34	4,435.01
Franklin High Yeild Tax Free	Ω	8/13/2009	9/22/2009	2779.551	9.98	27,739.92	25,738.64	2,001.28
Motors Liquidation	۵	8/6/2009	9/22/2009	100	0.45	44.99	52.50	(7.51)
VanKampen Municipal Trust	۵	8/6/2009	9/22/2009	928	13.67	13,093.11	11,888.78	1,204.33
Vertus Tax Exempt	۵	8/13/2009	9/22/2009	1638.385	10.69	17,514.34	16,531.30	983.04
EQT Corporation	۵	8/6/2009	12/15/2009	200	43.16	8,631.77	7,764.00	867.77
Edwards Lifesciences	۵	8/6/2009	12/15/2009	160	85.15	13,624.05	10,150.40	3,473.65
Newmont Mining	۵	8/6/2009	12/15/2009	200	50.37	10,074.73	8,464.00	1,610.73
Pfizer	۵	8/6/2009	12/15/2009	200	18.16	3,632.82	3,158.00	474.82
Texas Industries	۵	8/6/2009	12/15/2009	20	33.75	1,687.45	2,109.00	(421.55)
Weyerhaeuser	۵	8/6/2009	12/15/2009	150	44.36	6,653.32	5,578.50	1,074.82
						237,682.71	219,545.89	18,136.82
<u>Long-Term</u>								
<u>(a)</u>	<u>a</u>	ପ୍ର	ම	Shares		(e)	(5)	(L)
Bank of America	□	10/6/1999	3/2/2009	25000	1.00	25,000.00	25,183.00	(183.00)
Taiwan Semiconductor	ص	2/28/2007	8/14/2009	0.245	10.69	2.62	2.78	(0.16)
вват	۵	/2003	12/15/2009	1500	25.65	38,482.05	56,155.91	(17,673.86)
Pfizer	٥	12/13/2006	12/15/2009	2200	18.16	39,961.04	63,846.66	(23,885.62)
						\$103,445.71	\$145,188.35	-\$41,742.64
						\$341,128.42	\$364,734.24	-\$23,605.82

M M r

Form 990-PF Tax Year 2009

The Zondervan Foundation

Tax ID# 38-2411884

SCHEDULE for Part VIII
Form 990-PF LINE 1

(a) Dr. Robert Zondervan 706 W. 10th Street Claremont, CA 91711	(b) Pres Dir. 1hr. Per Wk.	(c) \$2,000.00	(d) -0-	(e) -0-
Mary Beth Schouten 752 Bragg Hill Norwich, VT 05055	Secret Dir. 2hr. Per Wk.	\$2,000.00	-0-	- 0-
Thomas B. Kladder 7140 Camino Del Rey Dr NE Rockford, MI 49341	Treas - Dir. 7hr. Per Wk.	\$17,000.00	-0-	-0-
Norman Pylman 1666 Tammarron Grand Rapids, MI 49546	Dir. 1hr. Per Wk.	\$2,000.00	-0-	-0-

7 M M F

From 990-PF Tax Year 2009

The Zondervan Foundation

Tax ID# 38-2411884

Schedule For Part XV Form 990-PF Grants Paid

RECIPIENT	PURPOSE	AMOUNT
Ascending Lights Leadership Network PO Box 27790	Christian Leadership Ministry Training	\$4,000.00
Los Angeles, CA 90027		
Potter's House 810 Van Raalte SW	Christian Day School	\$2,000.00
Grand Rapids, MI 49509-1149		
Tolle Lege Institute	Eastern European Christian	\$2,000.00
PO Box 150101	Ministries	
Grand Rapids, MI 49515		
Hands Extended Helping People	Poverty Home Appliance	\$1,000.00
PO Box 97	Ministries	
Ludington, MI 49431		
Calvin Theological Seminary	College Seminary PhD Chair	\$105,700.00
3233 Burton SE	,	
Grand Rapids, MI		
•	Total 3a	\$114,700.00

NO RECIPIENT IS AN INDIVIDUAL OR A FOUNDATION